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Answer all questions by circling the letter of the correct answer.  Each question has only one correct answer.   

1.  Jody spends an hour studying instead of playing tennis.  The opportunity cost to her of studying is 

a.  the improvement in her grades from studying for the hour.

b.  the difference between the improvement in her grades from studying minus the enjoyment of playing tennis.

c.  the enjoyment and exercise she would have received had she played tennis.

d.  zero.  Since Jody chose to study rather than to play tennis, the value of studying must have been greater than the value of playing tennis. 
The opportunity cost is the next best alternative.  So if she studied, she gave up playing tennis (C)  Opportunity cost is not the net difference between alternatives, it’s what you actually give up.
2.  Brian can produce 50 pizzas or 100 hamburgers in an 8 hour day.  Sheryl can produce 30 pizzas or 90 hamburgers in an 8 hour day.  Which of the following statements is correct?

a.  Brian has an absolute advantage in the production of pizzas, but not hamburgers.  He also has a comparative advantage in the production of pizzas.

b.  Brian has an absolute advantage in the production of hamburgers, but not pizzas.  He also has a comparative advantage in the production of hamburgers. 

c.  Brian has an absolute advantage in the production of hamburgers and pizzas.  He also has a comparative advantage in the production of hamburgers.  

d.  Brian has an absolute advantage in the production of hamburgers and pizzas.  He also has a comparative advantage in the production of pizzas. 

e.  Brian has an absolute advantage in the production of hamburgers and pizzas.  He also has a comparative advantage in the production of hamburgers and pizzas. 
Brian is better at making both, so he definitely has an absolute advantage in both.  That means you can rule out a and b.  Brian is twice as efficient at burger making compared to pizza making.  Sheryl is three times better at burger making, so she should make burgers; that’s what she has a comparative advantage in.  Brian is less inefficient at making pizzas compared to making burgers, so he has a comparative in pizza making. So the answer is d.  Note that you cannot have a comparative advantage in both, so e can’t be correct.
3.  Mike has spent $500 purchasing and repairing an old fishing boat, which he expects to sell for $800 once the repairs are complete. He discovers that he needs an additional repair, which will cost $400, in order to complete the repairs. He can sell the boat as it is now for $300. What should he do?
a.
He should cut his losses and take the $300.
b.
He should never sell something for less than it cost.
c.
He should complete the repairs and sell the boat.
d.
It doesn’t matter which action he takes; the outcome is the same either way.
Thinking at the margin, you can spend an extra $400 and get $800 for it.  That’s worthwhile.  The sunk costs of $500 are irrelevant to the decisionmaking.  Another way of looking at it is that if you stop now, you can sell the boat for $300.  That’s less than the $400 you get (800-400) if you fix it and then sell it. 
4.  
The difference between production possibilities frontiers that are bowed out and those that are linear is that
a.
bowed out production possibilities frontiers illustrate tradeoffs where linear production possibilities frontiers do not.
b.
bowed out production possibilities frontiers show increasing opportunity cost where linear ones show constant opportunity cost.
c.
bowed out production possibilities frontiers are the result of perfectly shiftable resources where linear production possibilities frontiers are not.
d.
linear production possibilities frontiers illustrate real world conditions more than bowed out production possibilities frontiers.
Both illustrate tradeoffs but linear PPF curves illustrate perfectly shiftable resources.  The answer is b because opportunity costs increase as you produce more and more of one good and less of another.
5.  The producer that can produce a product with lower opportunity cost
a.
always has a comparative advantage in the production of that good.
b.
always has an absolute advantage in the production of that good.
c.
should import that product.
d.
Both b and c are correct.
If your opportunity cost is lower, you always have a comparative advantage.  You don’t always have an absolute advantage (see question 2).  Also, if you have a comparative advantage, you will export the product, not import it. 
